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A]\ & ]

 B_ (NUMBER SYSTEM)11
 Kjy; n ,ay; vz;fspd; $l;Lg;gyd;

 
∑

∑

n

1

n

1

1 + 2 + 3 +...........................+ n = n

n(n + 1)
n =

2

1. $l;Lg;gyd; fhz;f. 1 + 2 + 3 + ..... + 30

   
30

1

( 1)

2

30(30 1)
15 31 465

2

n n
n

n

+
=

+
= = × =

∑

∑
2. $l;Lg;gyd; fhz;f: 11+12+13+..........+31

 1 + 2 + 3 +........+ 31   = 
31 32

2

×

	

= 496

 1 + 2 + ........... + 10     = 
31 32

2

×
 = 496

  ‡ 11 + 12 + 13 +........ 31  =  (1 + 2 +........+ 31) – (1 + 2 + 3........+ 10) 

     =  496 – 55 = 441

 ‡ Kjy; n xw;iw vz;fspd; $Ljy; n2

 Fwpg;G : l  vd;gJ njhFg;gpd; filrp xd;iw vz; vdpy; 
2

1 1

2 2
n

l l
S n

+ + = ∴ =  

3. $l;Lg;gyd; fhz;f: 11 + 12 + ....... + 35

 1 + 3 +........ + 35  =  

2

235 1
18 324

2

+  = = 
 

 1 + 3 +........+ 9  =  

2

29 1
5 25

2

+  = = 
 

 11 + 13 +.......+ 35  =  324 – 25 = 299
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 Kjy; n ,ay; vz;fspd; th;f;fq;fspd; $Ljy;

 
2 2 2 2 2

1 1 2 3 ............n
n n= + + + +∑

	

2

1

(n 1)(2n 1)

6

n n
n

+ +
=∑

 $l;Lg; gyd; fhz;f: 12 + 22 + ... + 20 2

 

2

1

20 2

1

(n 1)(2n 1)
;

6

20(20 1)(2 20 1)

6

20 21 41
2870

6

n n
n

n

+ +
=

+ × +
=

× ×
= =

∑

∑

 

 Kjy; n ,ay; vz;fspd; th;f;fq;fspd; $Ljy;

 

3 3 3 3 3

1 1 2 3 ............n
n n= + + + +∑

	

2

3

1

( 1)

2

n
n n

n
+ =   

∑
 

 $l;Lg; gyd; fhz;f. 13 + 23 + 33 + ... 203

 

2

3 3 3 3 220 21
1 2 3 .... 20 210 44100

2

× + + + + = = =  
 a, a + d, a + 2d, ..., a + ( n + 1) d vd;w $l;Lj; njhlhpd; n cWg;Gfspd; $Ljy; 

 [ ]2 ( 1)
2

n
Sn a n d∴ = + −

1. 3> 8> 13 ...... vd;w $l;Lj; njhlhpd; Kjy; 11 cWg;Gfspd; $Ljy; fhz;f

 3> 8> 13 .............. xU $l;Lj;njhlh;

 a = 3, d = 8 - 3 = 5, n = 11, [ ]2 ( 1)
2

n
Sn a n d= + −

 ( ) ( ) [ ]11 11 11
2 3 11 1 5 6 50 56 308

2 2 2
=  × + −  = + = × = 

 ‡ $l;Lj;njhlhpd; Kjy; 11 cWg;Gfspd; $Ljy; 308.


